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All questions are compulsory.
Marks for each question are indicated against it.
Answers should be brief and to the point.

Questions no. 1 - 10 in Part A has Learning Checks (very short answer
type) questions carrying 1 mark each. You are required to answer them as
directed.

Questions no. 11 - 16 in Part B are Very Short Answer type questions
carrying 2 marks each. Answer to each question should not exceed
30 words.

Questions no. 17-20 in Part C are Short Answer Type-I questions

carrying 3 marks each. Answer to each question should not exceed
60 words.

Questions no. 21 -26 in Part D are Short Answer Type-II questions
carrying 4 marks each. Answer to each question should not exceed
100 words.

Questions no. 27 and 28 in Part E are Long Answer Type questions
carrying 6 marks each. Answer to each question should not exceed
200 words.



UTT & (Teh 1 37eh)
PART A (1 mark each)

1.  Uga 3 1eft ue wdien & 2 e fmion sgh vt Suafermt stean yesla i
afersaamfl o & fore fopem mon 8 | SE9 Tohm v hi whan i g 2

(%)  srfiyermar wleor (@) wadt s
(M) gfg whem (9)  ESiHTCHSRAT wWieu
Rohan has just taken a test that is designed to predict his future

achievement or performance. What kind of a test has he taken ?
(a)  Aptitude test (b)  Projective test
(c) Intelligence test (d)  Creativity test

2. g RAT S giREdr S ol SesR el e W qul Al teiaa
TGRS Bl R, 38 e @i g |

The defence mechanism in which anxiety provoking behaviours or
thoughts are totally dismissed by the unconscious is known as

3. T =gtk o TR s fowla (feweids) et & fe@ ag o1 3y
&I ATTHR JTAT AT 2 |
In , the individual has a distorted body image that leads

her/him to see herself/himself as overweight.

4.  Ifygfat & =aEr fowa (Fiaee) wt ge7 off T STaT R |

The behavioural component of attitude is also called the aspect.

5. TmfaRed # @ HH-A1 IR g 1 3¢ 737 8 ?

(%) diEw (@) Sfa

(M)  TrHifae g (|7)

Which of the following is not an example of a primary group ?
(a) Family (b) Caste

(c) Political party (d)  Religion
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YR gk W BN aTd hig-ag (W) H 79 <@d & foh shieht safe @ wueiR
<k o T ATshTHhAl e@TdT & ST STshHYT T TfaIe &l hum a1 Afdfshan T8t
flmmm s #H}[qEwe |

Often in road rage we see that the angry individual shows aggression
towards a weaker person who will not retaliate or react to the aggression.
This is an example of

HI3 Sk fopelt =i & wTd fo=m <1 de&a ar g i ST 38 awen 39 IH:
TEQA AT & | T8 3G B

(%) o@gH H (@) YateEfe=ITE

(M) TEw () gue

A person summarises the ideas of the individual that she/he has received
and restates what she/he understands. This is an example of

(a)  Attention (b)  Paraphrasing

(c) Reception (d)  Cluster

J9 foptll =afth W U oIy @1 4 Y8R i 1 o180 eod gl 7, dl el

a2 fop rfirgf qen g @ ws wfd et 7 | (Tca/3TEc )
Jrora

Ifg & w13 e dg &1, O g9 39 fowg i off uHg 0 @ B | I
% g Hie W aret figha fmior 1 T 3 7 |
There is said to be consistency between attitude and behaviour when

there is a lot of external pressure for the person to behave in a particular
way. (True/False)

OR

If we like a teacher, we start liking her/his subject too. This is an example
of attitude formation that is learnt through

ST 37U UGTS W SIH ohiad a1 L UTd] oifeh I8 39 9= ohl Ush gl Ural

fop peft H I qd gU 97 TAfaAt HM | 36 CEIISICIE
aterat
W ! fogamd ® foh 3U HUE & o 3Eh {ovg YA W W &, IEeh!
SITEEt d § IR I A Hald 7 | T I gHTERE
I TR |
4
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Aanya is unable to concentrate towards her studies, as she is unable to
stop thinking about the errors that she would make while answering in
class. This is known as

OR

Raman believes that people around him are plotting against him, spying
on him and deliberately victimising him. Raman is experiencing
delusions of

JAUE F Yd o FEER 1 § Td AR Iifeh 9 SfaTreh duwel (¥9R) W
ST I a1 I 2 |
T

IS THGIT GEL hl HIGHTH] Sl 9 ICHIT § THFH 1 TIH H @I 3 |
&1 qwRierar Yef¥ia o @ 8 |

The consistency between current and past patterns of behaviour, as well
as harmony between verbal and non-verbal communication is termed as

OR

A counsellor is trying to understand the feelings of another person from
her/his perspective. Here, the counsellor is exhibiting

URT & (T 2 k)
PART B (2 marks each)

HTd 91 g T hY S Infen fae (Rmifdae saos) @ & 2

What are the primordial images as explained by Carl Jung ?

Ffverdes (gMfH) Tead S8 K gHeAd wd Wipfde Sued I9H ° w ™
Trehe aTet Sl YAl (STAATacihl) o €9 § Sl & | 39 IR i 989
T R 38 T HIT |

Traumatic events such as serious accidents and natural disasters haunt
the survivors as flashbacks. Identify and explain the disorder.

IrEdafaes Sia aifeufaet # smgwfas gfg =1 & <@r S # 2

How is experiential intelligence seen in real life situations ?
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TEeRT-Ieh (FU-grEfied) faftre mHastes faeri @i %8 309+ 8, 9
3T T |

YT
HEET AT fIhR 1 HiET THHATEY |

Give some examples of how neurotransmitters lead to specific
psychological disorders.

OR
Citing examples, explain somatic symptom disorder.

e oca 4 Torg g fi 8 2

How is crowding different from density ?

g TR 1 Bl & ?

AT
AT (ATEEMh) THTE 3R FEHTeH J9TE § 7t T HIfT |
Why does group polarisation take place ?

OR
Differentiate between normative influence and informational influence.

WA T (TeAeh 3 37eh)
PART C (3 marks each)

2ag dn Yfaeeft a1 # grary s i |

HYAT

TS o JIEH § THHICHe SJagR SafeRy & g 2
Explain the relationship between stress and the immune system.

OR
What are cognitive behavioural techniques in the management of stress ?

R = w2 2

What is poverty cycle ?

JCH GRON o faehrE H AWV YHEI hi YA o IR H il U™ h
e &/ o ?

How does Carl Rogers view the role of social influences in the

development of self-concept ?
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Teh ISR hl gl & Tose Hife foh shaeg fagaedis (feafberssem)
gffferrit <t fafereen & 8 Tgme g # |

Explain with the help of an example how systematic desensitisation helps
in the treatment of phobias.

UTT ¥ (T 4 37%h)
PART D (4 marks each)

fopgl =R Sfiad hiwiel ol HHemsy S faenfe = efes Sfieq hi #im 3R
FEIfE & quTet qleh & Fued & I 591 8 |

Explain any four life skills that will enable students to deal effectively
with the demands and challenges of everyday life.

Y&t dehlehl whl SAfthed TRl hl 319l faferl o= gl ST @ 2 39kl
fersranatt <t = sy |

Why are projective techniques also called as indirect methods of
assessing personality ? Enumerate their characteristics.

gt feufaal 8 gt 3 gfdggrcaes S8/ | 3Tat Tqse hIfT | T
TS H Ughl] SUa8N hl ¥l SGM™T ST Tehdl & ?

Differentiate between cooperative and competitive behaviours in social
situations. How can cooperative behaviour be enhanced in an
organisation ?

o=aeq faerr o= 8 2 38 TRl ol T hIfSU |
STraT

WY@ dT-gaTd Hige e foehii i fohe JehR Tuse i 8 2

What are dissociative disorders ? Explain its types.

OR
How does the diathesis-stress model explain psychological disorders ?

S o @nefehar o i STEHdT | g ATell AT AT i HH B H
Hfeqea faferedn fopd TR TERIAT Ll 2 2 THHATST |

AYAT
Fafercareres Bt FHIffoReHT 1 HEw@YUl 37 Hi g ? T HIMT |
How does existential therapy help in reducing psychological distress
arising from inability to find meaning in life ? Explain.

OR

Explain why therapeutic alliance is an important aspect of
psychotherapy.
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gy GfshAT T ARl THSiET % U 3R femiwaret w fRk 7, f
TETIT TfshaT i o1 TohaT ST TehaT B | 39 A i gfee T |

The success of a counselling process depends on the qualities and
characteristics of a counsellor, which can enhance the helping process.
Justify this statement.

UTT & (TAh 6 37h)
PART E (6 marks each)

AUl g fava g T ol o AR WS ¥ =Rl FEgR @ |
YRUMIETEY S8k 01U 3719 Uk UA.S.37. o H1Y i il ol & | Al <hl
srftgfrn o afads @ & fore foma ufseamett 1 e & @ S =nfee 2 Tase
sifs |

AT

I8 JGRIA T % F8d-H IS § {h fhH THR Y@ FUm TR HSHTE Icoa
HAT 2 | 3 qaEl 1 AR A AW 9Tt fohedl = &l ==t fifv |
You strongly believe that people do not treat street animals properly and
as a result you have joined an NGO to work for this cause. What
processes should be kept in mind while trying to bring about a change in
the attitude of people ? Explain.

OR
There are many instances to show how prejudice can lead to hatred and
discrimination. Discuss any four sources leading to these prejudices.

Jig 1 SFTTURON H TEBA F1 YHepT TuT @ ? feemll qen ARd qeadisii
Ted H TR ITTEN hI TgRIaT ¥ TS HIfA |

JrrE
AThAT T 3 2 HAIASIoh Tehedd <hl gl o9 fafer s gwemsu |

What role does culture play in the conceptualisation of intelligence ?
Explain in the context of western and Indian cultures with the help of
suitable examples.

OR
What is assessment ? Explain any three methods of psychological
assessment.



